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3. Johanna jogs along a straight path. For 0 < r< 40, Johamma's velocity is given by a differentiablé function v,
Selected values of (), where 1 is measired in minutes and ¥() is measured In maters péer minute, e given in

the table above, A Vie)- vl_er . ;
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(b} Using corect unils, explain the mem of the definite integral j [v(£)] s imthe cgatext of the PIObinL
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(c) Bob is riding his'bicycle zlong the same. path. For § < ¢ <10, Bob's velocity is modeled by
\,Q\aaf "'39 Bt} = P - # 300, where 7 is measured In minutes and B(#) is measured in meters per minute,

Find Bob's acceleration at time + = 5.
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(b) Find ~d~:—- in térms of x and y. Determing th: c{;m:avxw of all solution curves for the given dﬁérpmﬁa]&

equation m@ Give a reason for your answer.
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{c) Let y= F(x) beths particular solution o the differential equation wﬂh the inifial condition. f; !; b g,
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{d) Find the values of the constants sz and ¥ for which Y= mx+% b isasolution to the differential equafion. -
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5. Consider the functicn f(x) = 21 ,
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- where % is a nonzero constant. The derivative of fis given by
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- Find the partial fraction decomposition for the function F
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| 6. The Maclaurin series for a function f is given by ;i——«—n X = Emgx +3x R—
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converges to. f(x) fot |x| < R, ‘where R is the radius of convergerice of the Maclaurin series.
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the third-degree Taylor polynomial for g(x) = ¢*f (,x} sbout x = 0. .
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